Name

Date Pd

CYU 2.5 & 2.6 Reasoning in Proofs DAY THREE

7 EUsewhenyougetitﬁg’htallbyyourseff' . \
S Use when you did it all by yaurself but made a silly mistake
fl Use whea you could do it alone wsth a little help fram teacher or peer
B Usewhenyou completed the problem in a group
~ XUse when a question was attenap;ed but wrong (get help)

N Use when a question was not even attempted 4 7
CONCEPTS BASIC INTERMEDIATE | ADVANCED
Given )
Transitive POE/POC 8247
Symmetric POE/POC 1,2,56
Segment/Angle Addition Postulate 8,11
Def. of Complementary/Supplementary Angles 3,9
Def. of vertical angles 5,6
Def. of Perpendicular Segments/Lines 9
Substitution POE 8,10, 11
Def. of midpoint 4 7
Def. of equilateral triangle 6 12
Def. of linear pair 10 10
Addition/ Subtraction POE/POC 10
Simplify or Combine Like Terms (CLT) 8
1) Given: 1= /3 e
/5= /3 2) Given: PQ = RS
Prove: Z1= /5 or=m l
Prove: PO =QR : Al
1L a=2 (1 G\ Statements Reasons
75 =143 1. PO=RS 1. _ e
2: 253 23\, SV&W\MH\AL e OR=F5 e
3. a=s5 3. Traneitve PbC 2. B =0R 2._Summetwe Poc
3. PO=0R 3. Nanahve Poc




3) Given: m£1=35°

N 4

G

o

4) Given: H is the midpoint of GI

m£2=55" HI =HJ
Prove: /1 & £ 2 are complementary. Prove: GH = HJ 4
Statements Reasons Statements Reasons
1. m/1=35" 1. Glven 1. 5T =HJ _&G\ven
mL2=55° : H is midpt of GI
2. mLi+ms2=90| 2. 3 Pidd. YWY, 2.GH=HI 2. DF. of M'lcl_ﬂh«:l'
3. A& L2are | 3.Dpt. OX (MWY. 3. GH=FJ 3._Trangifie PoC
complementary 4
6) Given: AJKL is equiangular K
5)Given: /3= 22 )Pr‘ove: e éi e
Prove: /3 = /1 K/%
I e
Statements Reasons T S P
1 53222 1 _Een . 1 AJKLis 1. _(siver
2. Z1=242 2.Del. o VM@J%S Equiangular
3. L2z 4 3.%mmd1c D 2. a=2n 2.Def. X equian ular A
4. 3= 4 e POC 3. s3=x4 3.0d of védaa| 4'<
4 L1=2/4 4. Trangiive ¢
N 5. 24 = /1 5.&3mm&+wl c

7) Given: NA =AM A%B

8) Given: B is between A & C

M is the midpoint of AB AB=9 2 =1 <
Prove: NA=MB BC=7 A B C
: Prove: 16 = AC
Statements Reasons a el = =
N =T - GNen atements easons
iM _A 'dAthﬁ : 1. B is between 1 (=wvéen
ismi p g : A &c
2. ATIEE ZM DQ M\APOM AB:9
3. Ni=)B 3 Tanstve POC o=
2 aB+Bc= Ac | 2.Sea. Add. Asd.
3.9+7zAC 3.Sulch . E
4.16= AC ' 4. L.T/Sivuo\.(:a,




9) Given: Z1& /2are
complementary

Prove: SX L WX

10) Given: m£2=90°
Prove: m£1=90"

4
A 4

Statements Reasons Statements Reasons
1. N1&22are |1 _(GNEN 1. m£2=90° 1
complementary 2. £1& Z2 form 2.
a linear pair
3. mZL1+mZ£2=180 | 3.
\
2. LWXSis right 2.1_)@‘l 354, ms/1+490=180 |4.
o A \
3. ¥ LY 3. L= SR 5. 5,
= 3
3 B
11) Given: mZNLM =90° | M  12) Given: AABD is equilateral
mLl=mA3 1 2 :/ BD = EE
Prove: mZ3+m£2=90° Prove: Al & B 7 5
Statements Reasons Statements Reasons
1. msNLM=90° |1. _(5NVen 1. AABDis 1. _(&iven
mZl=m723 equi!afemt
mLl+msLl= ) e i 2 BD =BC
2. 2. 3 Add. Hd. St - 4
mZNLM 3 2. AB=3D 2. Det oleg Luamddwlé

3. mLl+mZ2=90°
4 mL3+ms2 =90°

3. Qo AE 3. Ap 2 BC

4. Su,bé:ﬁ’%\kﬁ@m P 3

7
3. Transitive P:Dop of =

CYU Reflection: How far can you go: basic, intermediate, or advanced?

Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give

yourself.

]

2

s 4

< 7

6.

8

Basic

B A T R S e B PR =

Intermediate

Advanced Solved ALL!




